SOLVE THE FOLLOWING 4. 245 807 =
1: The figure below shows four A 200 000 + 40 000 + 5 000 + 800 +7
number card pieces. B 200 000 + 40 000 + 5000 + 80 + 7

gy C 200 000 + 40 000 + 500 + 8 + 7
127 645 [ 30 072 ’

D 200 000 + 4 000 + 500 + 80 + 7

rews]  [m2e]

5. Which are the numbers below when
rounded to tens of thousands the

digit value 7 of each of those cards. answer nearest to the 3 hundred

Form a number using

?
A770077  B707 770 UiRhERn
A 295 407
C 707 077 D77 707
B 305038
C 311059
2. Round off RM24 563 to the nearest
thousands D 314 679
A RM25 000
B RM24 600
C RM24 560 6
D RM24 000 Gan

l 340 127 ] PR R e vi
l _'?THD 119 ' 100 000 marbles
6. Estimate the number of marbles in R
340 111 l A 30 000

- B 40 000
F 340 103 J C 50 000
. D 60 000
3. What is the number pattern for the
sequence )
7. Which are the following number are not
number above? prime number?
A ascending order of eight A2
B descending order of eight B3
C ascending order of eighty cC7
D descending order of eighty D9
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